WIOD U UOAAPY .-"\:L-"ﬁr":‘\..{.’:{illl{

http://www.rdvvonline.com
Printed Pages - 13+3=16
PL\J

D-5126

B. Com. (Hon’s) (Fifth Semester) Examination,
April 2019

(New Course)
FINANCIAL MANAGEMENT

Paper : BCH-503
Time Allowed : Three hours

Maximum Marks : 40
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Note : Attempt questions of all three sections as directed.
Distribution of marks is given with sections.

aug-A

Section-A

(TFrE wwr) ' 5x1=5

(Objective Type Questions)
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Note :
Attempt all the Jollowing questions. Each

Question carries | mark.
L o8 s@t = ugm Hifey—

Choose the correct answer :

(a) ==t fam
(b) Frm faw

(¢) ¥=arE faw

(d) (a) a1 (b) B

Financial Management has been called sometime

before as :

(a) Business finance
(b) Corporation finance
(c) Institutional finance

(d) Both (a) & (b)
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= e afea g &
(a) TR ¥HIfa Fre

(b) SR JTAT A

(c) v w1 |

(d) # 7

Law gearing is justified :
(a) During inflation period
(b) During trade recession

(c) During depression period
(d) None

wadl @ qEifER il W aea 3fe fm -
(@) 2:1

(b) 2:3

(c) 3:2

(@ 1:2

The ratio between equity and preference :

(a) 2:1
by 2:3
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(€)3:2

(dy1:2

I weard -
(a) &V

(b) W

(c)

(d) "o 3y

Owned capital is :
(a) Dividend

(b) Bonus

(c) Reserve

(d) Equity shares

VI T o ¥ R R ¥ i
fed—

(a) 21
(b) 42
(c) 50

(d) 110
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After dedicating payment at dividend should be
made within :

(a) iI
(b) 42
(c) 50
(d) 110
g ug-'q’
Section-‘B’
(Y Iwhg ) 5x2=10

(Short Answer Type Questions)

Pz ;o o T & e v ol o @ T
w1 & dfHard &1 9% T 2 swt @ &

Note : Attempt all five questions. One question from

each unit is compulsory. Each gquestion

carries 2 marks.

FhTs-1

Unit-1
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2. saafas faw @ Fw s b7
What is meant by Business Finance?

e
Or

faia g 1 dhod @& T2

What arc the limitations of Financial Plan?

Fag-11

Unit-I1

3. gt {5 T & = fadand s

Narrate four features of optimum capital structure,

k-]
Or

dietw #1 e T
Explain the importance of Leverage.

-1l

Uni¢t-E11
4. v7 w1 R qE F0 ¢?
What is the time value of money?
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Haqay
Or 18]

TR v A o &2
frftg finfa &1 F 4R & wg 3 )y TR

What is Liberal Dividend Policy?

Explain the relevance at time value of money in financial

‘s . -
decision making. http://www.rdvvonline.com
' Section-C
-1V (& 3wdig uyw) 5x5-25
Unit-1IV - - (Long Answer Type Questions)
S. waifven siw 3t @ = o 42 3 T F I Ao 1 33 A
= = W FW sifrErd &) 5w wer s ot wr #
What is the cost of preference shares capital? = =
: :é- é'- Note : Attempt all Jive questions. One question from
g— S each unit is compuisory. Each gquestion
Or :T :‘T carries 5 marks.
' & &
-3 difers fafy i d@wd @0 ¥2 o o
3 3 7ri-1
What are the limitations of Pay-back period methed? Uniit-I
7. uw frm F fadiy =aa & @987 am fa<dm oA %
-V S @ e
Unit-V o . _
Discuss the organisation and responsibilities of Financial
6. FrIT i‘_'ﬂ facten § oM F e ¥ 7 Management in a corporation.
What do you mean by working capital analysis? .
 drer D-5126
Or
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“Financial planning is the key to successtul business

operations.” Explain and discuss the basic characteristics
of financial plant.

w-

Unit-Ii

@ﬁ%m?mﬂaommwmﬁqmﬁmm
2—

fasra 2,40,000
yREdvita =™ (1,40,000)
F¥R_A 100,000
el =g (60,000)
EBIT 40,000
= ' (15,000)
EBT 25,000
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I faen ¥ SR W oREen A, i we o
g o &) o FifE

The probability statement of X Ltd. for one year is as
under :

Sales 2,40,000
Variable expenses (1,40,000)
Contribution 1,00,000
Fixed cost (60,000)

EBIT 40000

Interest (15,000)
EBT s

On the basis of above particulars, calculate operating
leverage, financial leverage and combined leverage.

3
Or

goit gt ol v & qE & o9 W @ oren Fifed)

Explain the relationship between capital structure and

value at the firm.

ya-1il

Unit-111
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9, 1 % THA I H AuRon AR A=A W FHARS |

Explain concept and recognition of Time value of money.

Haar
Or

v @ W99 qod @ fafudl aeeed |

Describe the method of Time Value of Money.

T R-1V
Unit-1V
10. TF w5 1 7 TEiq T 100 EEN WONA T 97.75 T &=l
w1 gEd &1 T R 15% € AR 27 ¢ W 5% Wfram w
v €11 e A R B oT S0% & W & AR O
@ @ A S |

- A 7 years T 100 debenture at a company can be sold at

¥ 97.75. The coupan rate is 15% p.a. and it will be
redeemed at 5% premium on maturity. The company tax

rate is 50%. Compute after tax cost at debenture.

3aqr
. Or

Uit gren ok v & g & o9 gay & e s |
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Explain the relationship between capital structure apg
value at the firm.

-V
Unit-V

il.ﬁﬁmaﬁwﬁmmﬁaﬁ-ﬁmiﬂﬁalﬁ
360 T =fd)

P 9,000 39 @ T 100 A
st X 50 ofa 3
™ 225 v
Sty 215 SR e

mﬁaﬁaﬁmsﬁwaﬁmﬁmimmﬁﬁm
ﬁﬁmmﬁﬁﬁlwmmﬁq%ﬁﬁwhﬂ

qmﬁﬁri#faqmﬁtsm%laﬂmﬁzsﬁﬁ
Cold

Find out working capital by operating cycle method. Taking
360 days in year.

Sales 9,000 unit @ T 100 each

Material ¥ 50 per unit

Labour T 25 per unit

Overhead T 15 per unit
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Customers are given 45 days credit and 50 days credit is

taken from suppliers, Raw material for 30 days and

finished goods for 15 days are kept in stock production
cycle period is 25 days.

oy
Or

BRI R PRI T N S g—
Fifed |

What is meant by Dividend? Explain the different from
at dividends.
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